Efficiency vs dr

—=— DQM_mkFit_TToriginal
—e— DQM_mkFit_TTNEWHS_ALLITER

AR

107 10”
[ Efficiency vs dr (track,jet) |
§0.02
a0.018F
- n
%).016_—

1
TP min AR

D.014F
> o
9D.012F
q_) -
o -
£ 0.01:
5} o
0.008|

0.006F-
0.004F-
0.002F-
1.0

Ratio

[y
TTTT] T

0.953 .
10~ 1072

-1

1
AR(TP, jét)

Efficiency vs pu

-0.05———
3 S T O W T
e S A R N

00U
[ Eoo ] : : : : :
R T S ST
£ E ] : : : : :

CTOTCE SRR N 0 1 TN MO A T
0.025 . ] . . . . .
0.02
0.015F -+ 4]
0.01F -4
0.005

1.0

Ratio

o
w
o
D
(@]
a1
(@]
(@]
~
(@]
o]
(@]
OF—
o
=
o
o

0.95
2



	Contents
	Page 1


